

56)  $A = \begin{bmatrix} -3 & -1/2 \\ 7 & 3/2 \end{bmatrix}$

$\det(A - \lambda I) = \begin{vmatrix} -3-\lambda & -1/2 \\ 7 & 3/2-\lambda \end{vmatrix} = (-3-\lambda)(\frac{3}{2}-\lambda) - (-\frac{7}{2}) = \lambda^2 + \frac{3}{2}\lambda - 1 = 0$  so  
 $2\lambda^2 + 3\lambda - 2 = 0, \quad (2\lambda-1)(\lambda+2) = 0, \quad \lambda = \frac{1}{2} \text{ OR } \lambda = -2$

a)  $\lambda = \frac{1}{2}: (A - \frac{1}{2}I)x = 0$  gives  $\begin{bmatrix} -\frac{7}{2} & -\frac{1}{2} & 0 \\ 7 & 1 & 0 \end{bmatrix} \rightarrow \begin{bmatrix} 0 & 1/7 & 0 \\ 0 & 0 & 0 \end{bmatrix}$  let  $y = 7\tau$ , so  $x = -\tau$

$\begin{bmatrix} x \\ y \end{bmatrix} = \begin{bmatrix} -\tau \\ 7\tau \end{bmatrix} = \tau \begin{bmatrix} -1 \\ 7 \end{bmatrix}$ , so  $\begin{bmatrix} -1 \\ 7 \end{bmatrix}$  is an eigenvector for  $\lambda = \frac{1}{2}$

b)  $\lambda = -2: (A - (-2)I)x = 0$  gives  $\begin{bmatrix} -1 & -1/2 & 0 \\ 7 & 7/2 & 0 \end{bmatrix} \rightarrow \begin{bmatrix} 0 & 1/2 & 0 \\ 0 & 0 & 0 \end{bmatrix}$  let  $y = 2\tau$ , so  $x = -\tau$

$\begin{bmatrix} x \\ y \end{bmatrix} = \begin{bmatrix} -\tau \\ 2\tau \end{bmatrix} = \tau \begin{bmatrix} -1 \\ 2 \end{bmatrix}$ , so  $\begin{bmatrix} -1 \\ 2 \end{bmatrix}$  is an eigenvector for  $\lambda = -2$

63)  $A = \begin{bmatrix} 2 & 4 \\ -2 & -3 \end{bmatrix}$   $\text{tr}(A) = -1 < 0$  and  $\det(A) = 2 > 0$ , so the real parts of both eigenvalues are negative.

65)  $A = \begin{bmatrix} 4 & 4 \\ -4 & -3 \end{bmatrix}$   $\text{tr}(A) = 1 > 0$ , so at least one eigenvalue has a real part which is not negative.

66)  $A = \begin{bmatrix} 0 & 1 \\ 2 & -1 \end{bmatrix}$   $\det(A) = -2 < 0$ , so at least one eigenvalue has a real part which is not negative.

67)  $A = \begin{bmatrix} 2 & -5 \\ 2 & -3 \end{bmatrix}$   $\text{tr}(A) = -1 < 0$  and  $\det(A) = 4 > 0$ , so the real parts of both eigenvalues are negative.

69)  $A = \begin{bmatrix} -1 & 1 \\ 0 & 2 \end{bmatrix}$

a)  $A \begin{bmatrix} 1 \\ 0 \end{bmatrix} = \begin{bmatrix} -1 & 1 \\ 0 & 2 \end{bmatrix} \begin{bmatrix} 1 \\ 0 \end{bmatrix} = \begin{bmatrix} -1 \\ 0 \end{bmatrix}$ , so  $u_1 = \begin{bmatrix} 1 \\ 0 \end{bmatrix}$  is an eigenvector for  $\lambda_1 = -1$

$A \begin{bmatrix} 1 \\ 3 \end{bmatrix} = \begin{bmatrix} -1 & 1 \\ 0 & 2 \end{bmatrix} \begin{bmatrix} 1 \\ 3 \end{bmatrix} = \begin{bmatrix} 2 \\ 6 \end{bmatrix} = 2 \begin{bmatrix} 1 \\ 3 \end{bmatrix}$ , so  $u_2 = \begin{bmatrix} 1 \\ 3 \end{bmatrix}$  is an eigenvector for  $\lambda_2 = 2$ .

$u_1$  and  $u_2$  are linearly independent since they are not multiples of each other.

b)  $\begin{bmatrix} -1 \\ 3 \end{bmatrix} = c_1 \begin{bmatrix} 1 \\ 0 \end{bmatrix} + c_2 \begin{bmatrix} 1 \\ 3 \end{bmatrix}$  gives  $\begin{bmatrix} 1 & 1 \\ 0 & 3 \end{bmatrix} \begin{bmatrix} c_1 \\ c_2 \end{bmatrix} = \begin{bmatrix} -1 \\ 3 \end{bmatrix}$ , so

$\begin{bmatrix} 1 & 1 & -1 \\ 0 & 3 & 3 \end{bmatrix} \xrightarrow{\frac{1}{3}R_2} \begin{bmatrix} 1 & 1 & -1 \\ 0 & 1 & 1 \end{bmatrix} \xrightarrow{-R_2+R_1} \begin{bmatrix} 1 & 0 & -2 \\ 0 & 1 & 1 \end{bmatrix}$  so  $c_1 = -2$  and  $c_2 = 1$ .

c)  $A^{20}x = A^{20}(-2u_1 + u_2) = -2(A^{20}u_1) + (A^{20}u_2) = -2(-1)^{20}u_1 + 2^{20}u_2 = -2u_1 + 2^{20}u_2$

$= -2(-1)^{20} \begin{bmatrix} 1 \\ 0 \end{bmatrix} + 2^{20} \begin{bmatrix} 1 \\ 3 \end{bmatrix} = \begin{bmatrix} 2^{20} - 2 \\ 3(2^{20}) \end{bmatrix}$

(10)  $A = \begin{bmatrix} -2 & 1 \\ -4 & 3 \end{bmatrix}$

a)  $A \begin{bmatrix} 1 \\ 4 \end{bmatrix} = \begin{bmatrix} -2 & 1 \\ -4 & 3 \end{bmatrix} \begin{bmatrix} 1 \\ 4 \end{bmatrix} = \begin{bmatrix} 2 \\ 8 \end{bmatrix} = 2 \begin{bmatrix} 1 \\ 4 \end{bmatrix}$ , so  $u_1 = \begin{bmatrix} 1 \\ 4 \end{bmatrix}$  is an eigenvector for  $\lambda_1 = 2$ .

$A \begin{bmatrix} 1 \\ 1 \end{bmatrix} = \begin{bmatrix} -2 & 1 \\ -4 & 3 \end{bmatrix} \begin{bmatrix} 1 \\ 1 \end{bmatrix} = \begin{bmatrix} -1 \\ -1 \end{bmatrix} = -1 \begin{bmatrix} 1 \\ 1 \end{bmatrix}$ , so  $u_2 = \begin{bmatrix} 1 \\ 1 \end{bmatrix}$  is an eigenvector for  $\lambda_2 = -1$ .

$u_1$  and  $u_2$  are linearly independent, since they are not multiples of each other.

b)  $c_1 \begin{bmatrix} 1 \\ 4 \end{bmatrix} + c_2 \begin{bmatrix} 1 \\ 1 \end{bmatrix} = \begin{bmatrix} -1 \\ 2 \end{bmatrix}$  gives  $\begin{bmatrix} 1 & 1 \\ 4 & 1 \end{bmatrix} \begin{bmatrix} c_1 \\ c_2 \end{bmatrix} = \begin{bmatrix} -1 \\ 2 \end{bmatrix}$ , so

$$\begin{bmatrix} 1 & 1 & -1 \\ 4 & 1 & 2 \end{bmatrix} \xrightarrow{-4R_1+R_2} \begin{bmatrix} 1 & 1 & -1 \\ 0 & -3 & 6 \end{bmatrix} \xrightarrow{-\frac{1}{3}R_2} \begin{bmatrix} 1 & 1 & -1 \\ 0 & 1 & -2 \end{bmatrix} \xrightarrow{-R_2+R_1} \begin{bmatrix} 1 & 0 & 1 \\ 0 & 1 & -2 \end{bmatrix}$$

so  $c_1 = 1$  and  $c_2 = -2$

c)  $A^{10}x = A^{10}(u_1 - 2u_2) = (A^{10}u_1) - 2(A^{10}u_2) = 2^{10}u_1 - 2(-1)^{10}u_2 = 2^{10}u_1 - 2u_2$

$$= 2^{10} \begin{bmatrix} 1 \\ 4 \end{bmatrix} - 2 \begin{bmatrix} 1 \\ 1 \end{bmatrix} = \begin{bmatrix} 2^{10}-2 \\ 4(2^{10})-2 \end{bmatrix} = \begin{bmatrix} 1022 \\ 4094 \end{bmatrix}$$

(12)  $A = \begin{bmatrix} 4 & -3 \\ 2 & -1 \end{bmatrix}$

$\det(A - \lambda I) = \begin{vmatrix} 4-\lambda & -3 \\ 2 & -1-\lambda \end{vmatrix} = (4-\lambda)(-1-\lambda) - (-6) = \lambda^2 - 3\lambda + 2 = (\lambda-1)(\lambda-2) = 0$

if  $\lambda = 1$  or  $\lambda = 2$

a)  $\lambda = 1$ :  $(A - I)x = 0$  gives  $\begin{bmatrix} 3 & -3 & 0 \\ 2 & -2 & 0 \end{bmatrix} \rightarrow \begin{bmatrix} 1 & -1 & 0 \\ 0 & 0 & 0 \end{bmatrix}$  let  $y = t$ , so  $x = t$ :

$\begin{bmatrix} x \\ y \end{bmatrix} = \begin{bmatrix} t \\ t \end{bmatrix} = t \begin{bmatrix} 1 \\ 1 \end{bmatrix}$ , so  $\begin{bmatrix} 1 \\ 1 \end{bmatrix}$  is an eigenvector for  $\lambda = 1$ .

b)  $\lambda = 2$ :  $(A - 2I)x = 0$  gives  $\begin{bmatrix} 2 & -3 & 0 \\ 2 & -3 & 0 \end{bmatrix} \rightarrow \begin{bmatrix} 1 & -3/2 & 0 \\ 0 & 0 & 0 \end{bmatrix}$  let  $y = 2t$ , so  $x = 3t$ :

$\begin{bmatrix} x \\ y \end{bmatrix} = \begin{bmatrix} 3t \\ 2t \end{bmatrix} = t \begin{bmatrix} 3 \\ 2 \end{bmatrix}$ , so  $\begin{bmatrix} 3 \\ 2 \end{bmatrix}$  is an eigenvector for  $\lambda = 2$ .

$c_1 \begin{bmatrix} 1 \\ 1 \end{bmatrix} + c_2 \begin{bmatrix} 3 \\ 2 \end{bmatrix} = \begin{bmatrix} -4 \\ -2 \end{bmatrix}$  gives  $\begin{bmatrix} 1 & 3 \\ 1 & 2 \end{bmatrix} \begin{bmatrix} c_1 \\ c_2 \end{bmatrix} = \begin{bmatrix} -4 \\ -2 \end{bmatrix}$ , so  $\begin{bmatrix} c_1 \\ c_2 \end{bmatrix} = \begin{bmatrix} 1 & 3 \\ 1 & 2 \end{bmatrix}^{-1} \begin{bmatrix} -4 \\ -2 \end{bmatrix}$

$$= \frac{1}{-1} \begin{bmatrix} 2 & -3 \\ -1 & 1 \end{bmatrix} \begin{bmatrix} -4 \\ -2 \end{bmatrix} = \begin{bmatrix} 2 \\ -2 \end{bmatrix}$$

Then  $A^{30} \begin{bmatrix} -4 \\ -2 \end{bmatrix} = A^{30}(2u_1 - 2u_2) = 2(A^{30}u_1) - 2(A^{30}u_2)$

$= 2(1)^{30}u_1 - 2(2^{30}u_2) = 2u_1 - 2^{31}u_2$

$= 2 \begin{bmatrix} 1 \\ 1 \end{bmatrix} - 2^{31} \begin{bmatrix} 3 \\ 2 \end{bmatrix} = \begin{bmatrix} -3(2^{31}) + 2 \\ -2(2^{31}) + 2 \end{bmatrix} = \begin{bmatrix} 2 - 3(2^{31}) \\ 2 - 2^{32} \end{bmatrix}$

9.3 - (13)  $A = \begin{bmatrix} 5 & 7 \\ -2 & -4 \end{bmatrix}$

$\det(A - \lambda I) = \begin{vmatrix} 5-\lambda & 7 \\ -2 & -4-\lambda \end{vmatrix} = (5-\lambda)(-4-\lambda) - (-14) = \lambda^2 - \lambda - 6 = (\lambda-3)(\lambda+2) = 0$   
 IF  $\lambda = 3$  OR  $\lambda = -2$ ,

a)  $\lambda = 3$ :  $(A - 3I)x = 0$  gives  $\begin{bmatrix} 2 & 7 & 0 \\ -2 & -7 & 0 \end{bmatrix} \rightarrow \begin{matrix} x & y \\ \begin{bmatrix} 1 & 7/2 & 0 \\ 0 & 0 & 0 \end{bmatrix} \end{matrix}$  LET  $y = 2t$ , so  $x = -7t$

$\begin{bmatrix} x \\ y \end{bmatrix} = \begin{bmatrix} -7t \\ 2t \end{bmatrix} = t \begin{bmatrix} -7 \\ 2 \end{bmatrix}$ , so  $\begin{bmatrix} -7 \\ 2 \end{bmatrix}$  is AN EIGENVECTOR FOR  $\lambda = 3$ ,

b)  $\lambda = -2$ :  $(A - (-2)I)x = 0$  gives  $\begin{bmatrix} 7 & 7 & 0 \\ -2 & -2 & 0 \end{bmatrix} \rightarrow \begin{matrix} x & y \\ \begin{bmatrix} 1 & 1 & 0 \\ 0 & 0 & 0 \end{bmatrix} \end{matrix}$  LET  $y = t$ , so  $x = -t$

$\begin{bmatrix} x \\ y \end{bmatrix} = \begin{bmatrix} -t \\ t \end{bmatrix} = t \begin{bmatrix} -1 \\ 1 \end{bmatrix}$ , so  $\begin{bmatrix} -1 \\ 1 \end{bmatrix}$  is AN EIGENVECTOR FOR  $\lambda = -2$ ,

c.  $\begin{bmatrix} -7 \\ 2 \end{bmatrix} + c_2 \begin{bmatrix} -1 \\ 1 \end{bmatrix} = \begin{bmatrix} -3 \\ -2 \end{bmatrix}$  gives  $\begin{bmatrix} -7 & -1 \\ 2 & 1 \end{bmatrix} \begin{bmatrix} c_1 \\ c_2 \end{bmatrix} = \begin{bmatrix} -3 \\ -2 \end{bmatrix}$ , so

$\begin{bmatrix} -7 & -1 & -3 \\ 2 & 1 & -2 \end{bmatrix} \xrightarrow{\substack{3R_2+R_1 \\ -R_1}} \begin{bmatrix} 1 & -2 & 9 \\ 2 & 1 & -2 \end{bmatrix} \xrightarrow{-2R_1+R_2} \begin{bmatrix} 1 & -2 & 9 \\ 0 & 5 & -20 \end{bmatrix} \xrightarrow{\substack{1/5 R_2 \\ 2R_2+R_1}} \begin{bmatrix} 1 & 0 & 1 \\ 0 & 1 & -4 \end{bmatrix}$  so  $\underline{c_1 = 1}$   
 $\underline{c_2 = -4}$

$A^{20} \begin{bmatrix} -3 \\ -2 \end{bmatrix} = A^{20}(u_1 - 4u_2) = 3^{20}u_1 - 4(-2)^{20}u_2 = 3^{20}u_1 - 4(2^{20})u_2$

$= 3^{20} \begin{bmatrix} -7 \\ 2 \end{bmatrix} - 2^{22} \begin{bmatrix} -1 \\ 1 \end{bmatrix} = \begin{bmatrix} 2^{22} - 7(3^{20}) \\ 2(3^{20}) - 2^{22} \end{bmatrix}$

CH. 9 RE - (5)  $AB = \begin{bmatrix} 0 & 1 \\ 2 & -1 \end{bmatrix}$  AND  $A^{-1} = \begin{bmatrix} 4 & -1 \\ 8 & -1 \end{bmatrix}$

$B = A^{-1}(AB) = \begin{bmatrix} 4 & -1 \\ 8 & -1 \end{bmatrix} \begin{bmatrix} 0 & 1 \\ 2 & -1 \end{bmatrix} = \begin{bmatrix} -2 & 5 \\ -2 & 9 \end{bmatrix}$

(6)  $(AB)^{-1} = \begin{bmatrix} -1 & 3 \\ 0 & 2 \end{bmatrix}$  AND  $B = \begin{bmatrix} 0 & -2 \\ 1 & 3 \end{bmatrix}$

$A^{-1} = B(B^{-1}A^{-1}) = B(AB)^{-1} = \begin{bmatrix} 0 & -2 \\ 1 & 3 \end{bmatrix} \begin{bmatrix} -1 & 3 \\ 0 & 2 \end{bmatrix} = \begin{bmatrix} 0 & -4 \\ -1 & 9 \end{bmatrix}$ ,

so  $A = (A^{-1})^{-1} = \frac{1}{-4} \begin{bmatrix} 9 & 4 \\ 1 & 0 \end{bmatrix} = \begin{bmatrix} -9/4 & -1 \\ -1/4 & 0 \end{bmatrix}$

OR  $AB = ((AB)^{-1})^{-1} = \frac{1}{-2} \begin{bmatrix} 2 & -3 \\ 0 & -1 \end{bmatrix} = \begin{bmatrix} -1 & 3/2 \\ 0 & 1/2 \end{bmatrix}$  AND  $B^{-1} = \frac{1}{2} \begin{bmatrix} 3 & 2 \\ -1 & 0 \end{bmatrix} = \begin{bmatrix} 3/2 & 1 \\ -1/2 & 0 \end{bmatrix}$ ,

so  $A = (AB)B^{-1} = \begin{bmatrix} -1 & 3/2 \\ 0 & 1/2 \end{bmatrix} \begin{bmatrix} 3/2 & 1 \\ -1/2 & 0 \end{bmatrix} = \begin{bmatrix} -9/4 & -1 \\ -1/4 & 0 \end{bmatrix}$